SEEN 2 SRBKIATERHLE T &

A—A
25000 5000 5000
4980 14940 5080 5075 14950 4975 5110 14900 4990

2420 o 3800 2500 o 3400 ?7

I ]\ \”m L“’:‘: H - \.\[ Gnn\ &\ 1l E [E- 1A I | [ [ANN
B TR SO T S b L L
Il (A Il 1 I [ L l 17!0 l ”v\‘\n

I
S I RN NI I T TN T R A T
2075 50
2000 19600 000 | c000 19000 2000 25 17350 1 ams

24340 501
2030 4970 ip30 A 14340 Eian
e hon aa 2 20 Jeng vaan

T ﬁ: | (1858 (]
kTr' Ly 4—“||dnr.--'_

T [
24970

A




ZABKIHE HETER
$=17400 (1/800)
an %)

FERF-LEER

= ﬁ%ﬁﬁiﬂ'ﬂiﬁﬁ.ﬁ—r- . i

- | - L amE oy ey Ll o s TR TR bar v




